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No. HEBRA HEREH B r/n HEHEREE
1 |=EEE Ta=125 °C, V = Vopr max. 1000 h 0/22 |HEMBRBEBRT S &
2 |mEEEns TR Ta=85°C, RH=85% 1000h | 022 |BRBEREBRT DL
V = Vopr max.
— ° — — 5
3 | FLysrsunsqpzr | 187125 °C, RHZ85%, P=2x10" Pa 100h | 022 |BEEBESRTSoL
V = Vopr max.
4 |ERRE Ta=150 °C 1000 h 0/22 |ERREER/ET S &
5 [ERR%E Ta=-65 °C 1000 h 0/22 |BlmRBER/RET S &
= 1 X 1] 2 3 -
6 |BESH]AYAUI-1 Ta=85 °C, V= Vopr max. 10°%ycles 0/22 |HFREEFRT S &
5% _
7 |BEBRRAYAIIL-2 Ta=105 °C, V= Vopr max. 10%ycles 0/22 |HFBREFRT S &
8 |BEYA4IL (54" Ta=150 °C & —65 °C, %& 15 % 500 cycles | 0/22 |BSHEEFBRT B &
. AR EBRET DL
9 |ZAEmMEMEL () 70—)" T=260 °C, 10s 3 0/22 %;;bi\ B EC &
N 2 T=380 °C, 55 (A3 TEEE) HaRBERET S L
10 | XA FETESE 2 (1FAFETT) S8 Uy 2 [m 0/22 L. B L
HSRRERET L
S T | _\#2 _ ° -
11 [ (FAFETEM 3(7 B —) T=260 °C, 10s 1[a 022 | iea i maspisr = &
TR BARE A LA 3HUA
it #3 T=245 °C ThdL
12 | IZA T A TH + Sn-3.0Ag-0.5C °5 | Ol emmams 0 95k LS
FHTEONAHI L
4 AAY A XA 40 UF
13 |94 RH 1 (ZERE Ta=30 °C, RH=60% 4000h 0/6 f;é:& gm
14 |94 RA2(BEFAII) Ta=85°C & -40°C 1500 cycles | 0/6 2;2?34 ABY 45pm AT
15 |94 2 N3 (BEBERH) Ta=55 °C, RH=85 % 4000h | of6 Z;Z?Z'f AB% 40pm BT
16 XA ESEEE Ta=125 °C & -40°C 2000 oveles | 022 WEATAREED 50% LI E D
(&AM [ZAF2# : Sn-3.0Ag-0.5Cu Y BEEHET S L
17 [ — K5 -8R Y &E 513& 75 : 0.5N 30s 0/11 |U—FABELIE N &
18 |y — ReaiagE 51387 : 0.25N 45 iR Y dhlf 2| 011 |Y—FHBRFELENI &
V=+2000 V, C=100 pF, R=1.5 kQ
== 1] O 3 :
19 [E&EME 1(HBM) Ve £, GND H# 5[g 05 |ERBKERBRRTSH L
20 |B4EME2(CDM) V=500V &, EthHRE 1E 05 |ERBKERBRRTSH L
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SYFTYITEE

21 +100 mA, V = Vopr max. 1[E 05 |ZVFTyvTLAENIE
(VNI RAEBREANZE) P i
3E) Vopr max = KEMEEE
#1,2,3 : BB EEHER. VU —XIHBREEET S,
Al A B (#1)
=RRF 0% AL EE o4 1
=85° 1)28—-3
Ta=125 °C Ta=85 °C ) ; [=]
=24 h RH=85 % T=260 °C

t=168 h t=10 s
Al L B (#2)

=SRRF % e e B

. Ta=85 °C
Tat‘_lzif’h c RH=85% —
a t=168 h

Al A I (#3)

=RRF g% AL EE A0

Ta=105 °C
- RH=100% -
t=8 h
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